
Lattice Multiplication (A)
Use lattice multiplication to find each product.
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Lattice Multiplication (A) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (B)
Use lattice multiplication to find each product.
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Lattice Multiplication (B) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (C)
Use lattice multiplication to find each product.
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Lattice Multiplication (C) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (D)
Use lattice multiplication to find each product.
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Lattice Multiplication (D) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (E)
Use lattice multiplication to find each product.
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Lattice Multiplication (E) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (F)
Use lattice multiplication to find each product.
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Lattice Multiplication (F) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (G)
Use lattice multiplication to find each product.
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Lattice Multiplication (G) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (H)
Use lattice multiplication to find each product.
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Lattice Multiplication (H) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (I)
Use lattice multiplication to find each product.
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Lattice Multiplication (I) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (J)
Use lattice multiplication to find each product.

0

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

1 9 7

1

0

197×10 = 1,970

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

5 9 0

5

3

590×53 = 31,270

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

5 9 3

4

3

593×43 = 25,499

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

2 4 4

2

3

244×23 = 5,612

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

2 6 5

9

0

265×90 = 23,850

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

7 8 0

6

6

780×66 = 51,480

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

1 7 4

2

2

174×22 = 3,828

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

5 4 0

6

8

540×68 = 36,720

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

1 3 7

5

8

137×58 = 7,946

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

5 7 3

2

6

573×26 = 14,898

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

8 6 0

8

6

860×86 = 73,960

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

6 4 2

3

5

642×35 = 22,470

Math-Drills.com



Lattice Multiplication (J) Answers
Use lattice multiplication to find each product.
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